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All questions carry equal marks.
Answer any two questions taking at least one from each group.

GROUP - A

1. How did Commodore Perry’s naval expeditions in mid-
nineteenth century force the Tokugawa Shoguns to
relinguish their isolationist policy ? Do you agree that the
socio-economic drawbacks of the Tokugawa regime were
responsible to a great extent for this ? 7+8

2. Critically examine the causes and nature of Meiji
restoration. What was the impact of the Meiji Restoration
on the Samurai Class ? 10+5

3. What were the major features of Japanese
industrialization from the Meiji era to the outbreak of the
First World War ? What were the cheif industries that
flurished during the period ? 10+5

(Turn over)



GROUP - B

4. What were the major factors behind Japanese
imperialism ? How did it progress during 1873-1905’ ?
Do any of the theories of imperialism adequately explain
the phenomenon ? 3+8+4

5. Explain Japanese imperialism from the Russo-Japanese
War (1905) to the Washington Conference of 1921. 15

6. How did the Manchurian Crisis of 1931 lead Japan to
adopt an aggressive foreign policy ? Explain the course
of events from the Peaul Harbour incident (1941) to the
dropping of Atomic bomb on Japan (1945). 5+10
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